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番 号  
配

点  
正  答  

上 位 群  

正 答 率  

下 位 群  

上 位 群  

無 答 率  

下 位 群  

誤

答

率

主 な 誤 答 例（ 標 本 全 体 に 対 す る ％ ）

[１ ](1) 4  2 3  9 2  
9 7  

8 2  
0  

0  

0  
8  2 7 ( 4 . 2)， 

33

4
( 1 . 0)  

( 2 )  4  
1

15
 8 8  

9 8  

8 1  
0  

0  

0  
1 2

7

15
( 3 . 4 )， 

2

15
( 0 . 8 )， 

1

15
(0 . 8 )  

( 3 )  4  5 2  9 4  
9 9  

9 5  
0  

0  

1  
6  2 ( 0 . 8 )， 3 2＋ 2 2 (0 . 6)  

( 4 )  4  2 x ２ － 8 y ２  88 
9 6  

7 8  
0  

0  

1  
1 2

2 ( x＋ 2 y ) ( x－ 2 y) ( 2 . 3 )  

2 x ２ ＋ 2 x y－ 8 y ２ (1. 6 )  

( 5 )  4  ( x－ 7)( x＋ 2) 97 
9 9  

9 5  
0  

0  

1  
3  ( x＋ 7)( x－ 2)(0.5 )， 7， － 2(0.4)

( 6 )  4  x＝ － 1± 5  69 
9 6  

4 9  
3  

0  

5  
2 8 ± 5 (2.6 )， － 2± 5 (1.6 )  

( 7 )  

4  

ア  x＋ y＝ 1000 

  5

100
x＋

10

100
y＝ 70  

8 4  
9 9  

6 3  
3  

0  

9  
1 3

 x＋ y＝ 1000 

 5

100
x＋

10

100
y＝ 1070 ( 2 . 5 )  

4  イ  x＝ 600， y＝ 400 79  
9 7  

5 6  
1 1

0  

2 9  
1 0 x＝ 600， y＝ 400(1. 4 )  

( 8 )  4  x＝ 11 82 
9 4  

7 3  
2  

0  

3  
1 6 4 ( 3 . 3 )， 5(2.7 )， 9(2.2 )， 0(1.5 )

( 9 )  4  a＝ 0  6 8  
9 5  

4 1  
3  

0  

4  
2 9 1 ( 2 4 . 6)， 2(1.5 )  

( 1 0 )  4  y＝ 1
 

73 
9 7  

4 6  
6  

0  

1 4  
2 1

1

6
( 2 . 4 )， 16(1. 6 )， 36(1. 5)  

( 1 1 )  4  ∠ x＝  26 度  93 
9 9  

8 8  
0  

0  

1  
7  5 2 ( 1 . 8)， 104(1 . 4 )  

( 1 2 )  4  1 2π  c m ３  64 
9 5  

2 8  
7  

0  

1 4  
2 9 1 5π (4.3)， 48π (4.0)  

[２ ](1) 4  1 2 5 0 0  個  82 
9 4  

7 3  
2  

1  

5  
1 6 2 0 ( 8 . 3)， 12000 ( 1 . 6 )  

( 2 )  4  3  回  60 
8 3  

4 8  
3  

0  

5  
3 7 2 ( 1 4 . 9)， 2.5(8 . 6 )， 4(7.6 )  

( 3 )  4  
7

10
 7 9  

9 4  

6 7  
1  

0  

1  
2 0

2

5
( 6 . 4 )， 3

5
(3 . 5 )  

( 4 )  4  1 6 5  7 5  
9 5  

5 6  
1 3

2  

2 1  
1 2 1 6 7 ( 1 .3 )， 232(1 . 2 )  

[３ ](1) 4  y＝ x
5

3
＋

8

3
 6 8  

9 8  

4 0  
6  

0  

1 1  
2 6 x

5

3
－

8

3
( 0 . 8)  

( 2 )  4  2 5  2 7  
7 1  

1  
2 5

1  

4 8  
4 8 2 4 ( 7 . 4)， 16(5. 2 )， 8(2.6 )  

[４ ](1) 4  3 0 x  度  53 
9 0  

1 4  
1 5

3  

3 1  
3 2

x

360
( 2 . 7 )， 60(2. 5 )， x

12
( 1 . 8 )  

( 2 )  4  y＝ π x  2 6  
6 4  

2  
3 6

4  

6 9  
3 8 x ( 2 . 8 )， x

30
(2 . 3 )  

[５ ](1) 4  

表 面 積  4π r ２  66 
9 6  

2 9  
1 0

0  

2 1  
2 4

4

3
π r ２ (4.1 )， π r ２ (2.3 )  

体 積   4

3
π r ３  72 

9 8  

3 9  
9  

0  

2 0  
1 9 4π r ３ (2.5 )， 4π r ２ (2.1 )  

( 2 )  4  2 3 c m
 

1 0  
2 4  

0  
1 8

9  

2 8  
7 2 3 2 ( 2 4 . 5 )， 4(8.6 )， 3(7.1 )  

[６ ](1) 4  1 2 0 度  69 
9 6  

5 3  
1 3

1  

2 7  
1 8 9 0 ( 4 . 9)， 150(1 . 9 )， 60(1. 9 )  

( 2 )  4  2 4π － 18 3  c m２  15 
3 6  

1  
3 7

2 0  

6 0  
4 8 1 2π (4.6)， 9π (3.4)， 18π (2.7)


